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[Today’s Dialogue 1]

Mary: Good morning! where are you going?
You seem to be in a hurry.
etdg, 0| 7t= S0|0F?
H ME2= ANE EolCt

Alice: Yeah, I am. I'm heading to the airport to
pick up the client.
S, Lt ity 't S0 DS Al
7t &0[0}

Mary: Are you going by yourself?
A X} 7|7

Alice: No, I'm going with Phil. He is supposed
to be waiting for me at the lobby.
OfL|, Lt ZO|Z &0|7L. &= ZH|0M L&
Zict2n s 70k
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be in a hurry: M&2LC}

I'm in a hurry.

L= X MF22 L0

* head to: ~2 SFSILC} 7L
* I'm heading to the airport.
L} X3 28 7H= Zo|ok.

* by oneself: ZXtA|
* Chloe lives by herself.
220|= 24t #0L

o foroneself : AAZ, X9 Tlo2
‘He completed the project for himself.
":L'— A*E i J.LEX‘IIE = Tt
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[Today’s Dialogue 2]

Alice: Phil!! You are 20 minutes late!!
What happened?
D29 IR0 1f 202 £

Phil: I'm so sorry. The traffic was stop and go
and bumper to bumper.
0| 2t6f. 3§ 0| B&{M Tt At ot
|-EX|.7|. 2l-lal =4 AAAAO-I

Alice: When is the client arriving at the airport?
D22 X =

Phil: His flight is supposed to arrive in an hour.
Let's go.
7t EF B 7(7F S A2 B0 SRS
o "5 O] OF. ZhAt!
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be ~ late: ~2t2 =L}
He was 1 hour late for the workshop
= 340 o A2t = UL

stop and go and bumper to bumper:
ZtCH MCF SR, Ap7F m2|off B2[E =Lt
=, X7} o3|t

be supposed to ~: ~2t 0| H0O|LC}.
According to the forecast, it is supposed
to rain this afternoon

27102 0f 25, = 2= H|7}

= 073 0|t
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[Today’s Dialogue 3]

Alice: Oh, my gosh. What happened to his flight?
AL AR H[EY|Of] 22 & s HOF?
Phil: According to the announcement, there was
a delay due to the bad weather.
But he must be here now.
S0 2 e M0 50| X[
AL otX| 2 D= X7 7] =AM S HOL

1A=

Alice: Has his flight landed already?
OO HIZ[7F EM AHEL?

Phil: That's what it says on the electric bulletin
board.

M2 _‘l-umﬂ MAL HEY| oSt ej.
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according to~: ~0f 2
according to the report 20 (2™
according to Freud ZZ0|E0f| o|5}H

e adelay: X|

* There was a delay X|SEiCt

» the bad weather: 2}H =
* According to the news the school got closed due to
the bad weather.
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.+ .that's what it says on~:
U ~ol Al Htof ojoFH O

ahof &l Hiof ojstE AL
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